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Which of the following describes the function of ARP?

a) It 1s used o map a 32-bit IP address to a 48-bit ethernet address.
b) It 1s used to map a 48-bit ethemet address to a 32-bit [P address
¢) It is used to map a 32-bit ethernet address to a 48-bit IP address.
d) It 1s used 1o map a 48-bit 1P address to a 32-bit ethernet address.
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Q.1 i In cach station i3 forced to send only at the beginning of the 1

time slot E -
a) pure ALOHA b) slotted ALOHA
¢) both (a) and (b) d) neither (a) nor (b)

1 In allisions ai oided through the use of three strategies: |

€ Inlerframe space, the contention window, and acknow !-.'Ljumcnrxth

a) CSMA Bl CSMA /CA .
¢) CSMA/ CD d) BRAP

1L I'he maximum throughput pure aloha is 1
a) 18.4 b) 18.8
c) 36.4 d) 36 K

iv. A problem with Bitmap protocols 15 an overhead of ... bi(s) per I
slation
al v )
c)2 {)

v What Ethemet frame consists ol i
a) MAC address b) IP address
¢} Delault mask d) Network address

vi What is the prefix length notation for the subnet mask 255.255,255.2247 |
a) /25 b) /26
¢) /27 28

vii.  How many bits must be borrowed from the host portion of an address to i
;1&'L'ii1ltr1lm.|i‘1[t a router with five connected networks?
a) Two _b) Three
¢) Four d} Five

viit. In the Network Address Translation (NAT), all the outgoing packets go |
through.......

al NAT Router
ey Local Router

b) Global Router
d) Private Router




